@ 3x ® xy @ 2xy ® 2x?

©2x

4x% - 2xy = 2x(2x - y)




2.

(x-3) (2x+2) & ol AL A5Ra)

@2 -ax-2  @)2x2-4x-6

@ 2x? —4x+3 ® 2x2 —dx+1

A

olc}. ol of 4

® 2x2-5x-6

29

(x-3)(2x+2) =2x2+(-6+2)x-6
=2x*-4x-6
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& % 8ay - 4y 9] A47} obd AL

@ xy(2x-1) @ 4x ® 4y
@ x(2x-1) @y(2x +1)

8x2%y — 4xy = 4xy(2x — 1)




5.

xty= V3, x-y= V2L W, ¥ -y +dx -4y 9] G FSHAU?

@V6+4v2 @ -4z ® 26+ V2
@ 3V6-2v2 ® 4V6-5v2

B

=y +dx—dy = (x+y)(x-y) +4(x-Y)
=(x-y)(x+y+4)
= V2(V3+14)
= V6+4vV2




DO x*-6x+9 @ 4x* + 16x + 16
1 1
@x2+§x+2—51 @ x*+2xy+y?
2 - 2
® x + 30+ 5oy

D x2-6x+9=(x-3)2
@ 4x* + 16x + 16 = (2x + 4)?
@ x2 +2xy + 1y? = (x + y)?

® 2+ +i2—<x+1)2
3 gg) = &




o3 Alo] & AFA o] = D Qo) gate ==
Qo] =7} 74 2 AL

@x2—12x—|—D @4x2—Dx—|—25
® 9x2+Dx+1 @x2+18x+D
® 22~ Jx+100

oL,
e

€8
@ x2-12x+[ |=x2-2x6xx+62
[ ]=62=36
@ 4x2 [ Jx+25=(2x+5)?
[ ]=#2x2x5=2%20
@92+ _+1=0Bxx1)?

.‘.|:|:4_-2><3><1:i6
@2 +18x+[ |=x+2x9xx+9?
W ]=92=81

® 2 -] Jx+100 = (x+10)2
[ J=#2x1x10=+20
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® x+1,3x+1

@ x+6, 2x

@»x+3,h

® x+6,2x+3

@ x+3,2x+1

2x2 + 6x = 2x(x + 3)




x? = 2x—y? + 2y B JAFESfSAHY
(x+ay)(x—=by +c) 7F E1Ath ot a + b + ¢ 9] 222

a-2x-y?+2y=x2 -y -2(x-y)
= (x+y)(x-y) - 2(x-)
= (x-yx+y-2)
Ot a=-1,b=-1, c=-29B2 g+ b+c=—-4




10.

X2y 420y 9 A57E B S Qs ALY

@x—y—? @ x-y-4
@ x-y+4 ® x+y+2

¥ +y?—4-2xy = (x-y)?-2?
=(x-y+2)(x-y-2)




11. (x-y)* - 8x+8y+ 162 12aHSHH (ax + by + ¢)? ©|th. o]
a+b+eo L (D ak FH)

®-16 @-1 @2 @ 8 ® 12

B \
(x=)? - 8(x—y) + 1614
x-y=A= g5
A?-8A+16=(A-4)?=(x-y—4)
ca=1, b=-1 c=-4
“a+b+c=-4




12, x* +2xy+y? - 5x -5y & 5-ElistH?

@ (x+y)(x+y-5) @ (x+y)(x+y-10)
® (x-y)(x+y-5) @ (x-y)(x-y-5)

® (x+y)(x-y+10)

‘ (x+y)?=5(x+y) = (x+y)(x+y-5)




13. a+b=-2 ab=-15 2 ", (a—b)* 9] gr-2?

@® 36 @ 45 (@)64 @ 81 ® 121

(a—b)2 = (a+b)? - 4ab = (=2)2 — 4(-15) = 64




14. ohA axt - 5x + 1.2 U] 7] QXA ] GOz Q1% BahEct ]
o) Q4] of e

D 2x+1 @ 2x-1 @Gx

@ 6x+1 ® 4x-2

(4x?-1)(x?-1)=(2x+1)(2x—1)(x + 1)(x— 1)
(A ) =24+ 1420 -1+ x+14+x-1
= 6x




x=34+V8,y=3- V8L, (x+y)2-(x-y)? 9 FeUL,

® 1 @ 2 @3 @ ® 5

(6" 5% = (x" = y")?

= (@ 4y + 2 -y (& + Y - 5"+ )
= 2x" X 2y" = 4(xy)"

xy=(3+ V8)(3-V8) =1

S Axy)t =4




